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DEPARTMENTAL EXAMINATIONS (COMPUTER BASED TEST)
Name of the

Departmental Test for Evaluation and

Test: Applied Research Department (Without| 070
Books)
Maximum Time: One Hour Maximum Marks: 40

IMPORTANT INSTRUCTIONS

OBJECTIVE TYPE
Qamen@m eUmMS QI6TTTS & el

Read the following instructions carefully before beginning to answer the
questions.

s EhéHE el WelédsHd QHTLMIGD (LP6TL SLP&ESHEIIL. M6 DTS 611d
SHUETLOMSL UIg &H&6LD.

1. This computer based Test contains 40 number of questions in objective
Type.

Qrssd saefll aulfld Coyeurengl 40 C&TEGM eUsNSHUNCLTET N6TTTEHEEM 6T
Q& TETITL &)

2. Answer all questions. Each question carries one mark
QMGG NOTHESEESHGL  alemL wWefNesad speubleur@ eNermeyd (b
OSHLICILIETTT 2 601 Uig).

3 In case of doubt, English version is the Final.
alarréseiley FHCHHD QU YR elgalled QaTEHEHSULL (Heren
N & &HCen QMo &)

4. Words of masculine gender in these questions shall, where the context so
require, be taken to include feminine gender.

Qg ealermesefley QLD QUOMMIeTeT o600 LTeO6sTSH&Heurfledt 6uMiysHemn & &efled
CoHemeauliligest,  HIGCHMU  Quets  UTesTSHSHeulflesT  6UMTEH NS & EHLD
SILRIGLD.

5. Before answering the questions in CBT, candidates should read the following
instructions displayed in the monitor:
eNegurenrlILGTII&Gen  Sewnerll eulhld CoHialm@ oL wefdEsd CHTLREGLD
(et sewNellufesr  HewguNed  CHTOIMILD  MEUEDTHEMET  HEUCTTLOMTE L]
Uy &&6)LD

a) One question will be displayed on the screen at a time.
Gy ChrsdleL e eNerm WL (HGC sl Henguiled CHmermib.

b) Time available for you to complete the examination will be displayed through
a countdown timer in the top right-hand corner of the screen. It will display
the remaining time as Time Left. At the beginning of exam, timer will show



1. Quantity of a commodity accumulated at a point of time is termed as
@0 GHUALL stagded (point of time) @elps sréEseNar arana GSOUEEDL usd
S LD.
(A)  production ‘A (B) stock
2 Husd Souy
(C) wvariable (D) flow
ormled) @L D
2. Net National Product at factor cost is also known as

o HLSHE sryanflufiesr NNP

(A) National Income (B) Domestic Income
e Cadlw eu(meumul 2 GTHTL(H GU(HLDTELD
(C)  Per capita Income (D) Salary
S 6% GU(HLOTELD &hUETLD
3. The Mercantilists gave utmost importance to
aaflsaidsdr oifls aHwusgeud Qarhsss
(A)  Agriculture (B) Manufacturing Industry
GauermesrenLn o HuSHS Qgmided
(C) Trade (D) Imports
v\ cuanflaid @& @ W
4. National Income is measured by using methods.
crHs@a (pepsertd Cadlu au(peumil saédLLiLh&ng ?
A)  Two w”) (B) Three
Qe epeT)
(C) Five (D) Four
8hH3)! LULYC
5. In disguised unemployment, the marginal productivity of labour is
weopps GCaimaularanuie, e ampriureiuiar @mnidlao o Hugd
(A) Zero (B) One
‘/\ LpsouiLd 6eET M)
(C) Two (D) Positive
@ resr(p) Crirenm
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6. Simple random sample can be drawn with the help of
sngryenr gweuriilily wrdfls saflubdnegs Comeiwmarg)
(A) Slip method \/\ (B) Random number table
gl O e JTERTLLD GTERT LIl g Uied
(C) Calculator (D) All the above
&awfl LILimedr Cuphaadw eTédemd
7. Vin MV = PT equation stands for
MV = PT ererm gweruimiged, V ereriig)
(A)  Volume of Trade v\ (B) Velocity of circulation of money
curenflLigdlesr ojaray uasSler &pnsl Cousid
(C)  Volume of transaction (D) Volume of bank and credit money
Qurésls Leamsder eTe] GUBI LDHMID HLGT LG 6Te

8. Moral Suasion refers
Qpdlperm GIerTL 6 GTeTLIg)
(A) Optimization (B) Maximization
2 $sflemelLHSS60 o FglaneliL(HSSe
(C)  Persuasion (D) Minimization
/\ FIATHSOD BL_GIg &SNS &mma|blaneliLi(HEgIse
9. 2016 Demonetization of currency includes denominations of
201660 LadiiL B&sb ahEshs DL LaThsEhsE gHUHSSIULL G ?
/\(A) Rs.500 and Rs.1000 (B) Rs.1000 and Rs.2000
e5.500 whmid em.1000 er.1000 whmid er.2000
(C) Rs.200 and Rs.500 (D) Rs.1000, Rs.500 and Rs.100
e5.200 womid e5.500 e5.1000, ¢5.500 wpHmid em.100

10.  There was plan holiday in India from
@pdHwreied L alpern Sef&sliul L ST L LD

\/\(A) 1966 — 69 (B) 1961 -63
(C) 1980 — 84 (D) 2002 — 2004
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11. According 2001 Census, the population of India was
2001 wéser Agres seansba@ iUy Qbdwureler wéser QgTans

(A) 236 million (B)
236 8eved wier
(C) 1000 million

A ©

1000 Aevedlwetr

12.  Standard error of the sample mean is
wréfl sgnefsarear S

A o

/\(C) o/n

(B)
D)

13.  The first bank in India was established in

890 million
890 WeveSlwieh

1027 million
1027 Wevedwiesr

@ndunedled wpger (psd eumidl CQam_masl6uDD <6 H

B)

/\ A 1770

(C) 1801 (D)

14.  ANOVA was developed by

1806

1782

LUt (U uElumie] papsaer allfleuBdd weurr

(A) S.D. Poisson (B)
S.D. umiigmer
(C) R.A. Fisher (D)
‘/‘ R.A. SQagim

Karl Pearson
ST - QW TEFmeT
W.S. Gosset
W.S. ar@QsaL_

15.  The data obtained from published or unpublished by some agency are called
Qeueflll i L g GeuefllltiuLng sTrmsar epobd Sl ssu6ubn  Lererf

Sleuymi&ET
(A) Primary data
Wpaoblene LeTefl afleurib

-\ (B)

(C) Statistics (D)

LeTeflufiwied

Secondary data
@uerLmd Hlevew Lerafl afleurid

Information
SiMleS L seT

028/DM/23
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16.  The most preferred diagram to represent the components of a variable
@ wrdlulfler LOCeun sgmpsmer ellerds LWETURID UL LD

(A)

(©)

v\

Line diagram
Can@p euenyuL b

Pie diagram
Ul L efeTdssliuLLb

B)

D)

Bar diagram
Ul e eferdasliuLLb

Pictogram
2 (heu eqeT&HaLILIL LD

17.  The statistical device which helps in analyzing the co-variation of two or more
variables is
Quanh ooy SisHE& Copul wrhlsefler o LatormurLames &Tter 2 geb

Lereflufuiey &mad
(A) Variance
IMILITC L 6Tene

(©)

A

Correlation coefficient

e 0Oneis Qsw

B)

D)

Probability

Hapssa

Coefficient of skewness
CamL & Q&

18. A coin is tossed 6 times. Find the number of points in the sample space.
@(H Braruid 6 (pen serLLUBE g erafler sam@eiaiiudler o arer Corgs LeTatlser

(A)
(©)

12
32

19. IBRD was setup in
o @& aumdl Carpmiedisasiul L e @

(A)
(©)

1983
1948

(B)
v D)

B)

v (D)

16
64

1844
1944

20.  The most commonly used measure of position is
@ Hlevevaus erell. Gumgers LweruBEs LGS

(A)

(©)

028/DM/23

Percentiles
BITDH MO BI&ET
Standard deviation
S L elevssid

B)

D)
1

Deciles
WEIY AL

Quartile deviation
ST &L



21.

22.

Minimum reserve system relates
GoDHS Sare| el Hldwen (Minimum reserve system) @miiLig)

(A) Method of note issue
Lpésl uead Celefludi@im wpevm

(B)  Commercial banks keep certain portion of their deposits with the RBI
aeailes amdsalar smsar HHulwoyn undear e Osraseow RBI WLb
meud(Hdse

(C)  Commercial banks should keep certain portions of their deposits in cash
amiles emdlsd ghusdr @alybdlar @m undaear Qrrssl  Lewoms
@asH 50U

(D)  Customers are compelled to keep certain minimum balance with their deposits
QUG SE@SWITETTHET  Sh&GET eaulilsdsrasuier o uGHlamer @G@mpbsLL &
@ pLLTES eneusd (HLILg)

The difference between NNP and NDP is
Blay pri@ enusdsgnd (NNP) flay eeapr@ 2pusdéegn (NDP) @earGCu o érer
CoumiuimL_meg,

(A) Depreciation
CaUinrerd

(B) Current transfers from rest of the World
o e 9 LEHsefledl(mbg HLLIL LTHDLD

(C) Indirect tax
e (ps auifl

(D) Net factor income from abroad
QeuafiprPsefle(mbg aumbd Hlars sryent eumeumul

The process of arranging the data into classes and subclasses according to the
common characteristics

Ceafgsiur L efeurmhisener 36Ul e @ueLsEpsGahu Wfeyserraa]b
o " dflajserraeybd auflensliLi(hsgisHe

(A) Tabulation ‘/) (B) Classification
L L eueentIL(hSg&Hed en&LUILI(H SIS0
(C)  Distribution D) Arrangeme.nt .
Lélipseflsse PUEGUOSSISD
7 028/DM/23
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24.  Total revenue is equal to total output sold multiplied by
allpuear Qe Qunmlsamer agarmd QumsHarmd Qwrss eumeuri HeL&Eb?

/\ (A)  Price (B) Total cost
alenev Qrsss DFoay
(C) Marginal revenue (D) Marginal cost
@mid snblane eu(meum @misl goflaneg Geway

25. A sample of 50 students is to be drawn from a population consisting of 500 students
belonging to two institutions A and B. The number of students in the institution A is
200 and the institution B is 300. How will you draw the sample using proportional
allocation?
500 wraveiismers Garam @@ WawsdsteHudd 50 Guengs CsmeamL b
ordlfleow a@és Couagm@bd. euisar 300 Guearrs Cararr A erarn el Hlmeuardgdend
200 Guenrs Qarem. B ererm s@el flmeiarsSain o dretant erafledr efllfls sopant w
LR esupern wrHAQuBissed wpanpuied ereueumm wrdfl er@EiiLmi?

(A) The sample sizes are 30 from A and 20 from B
A Wl mpg 30 Guenyuyd B ulelmpg 20 Cuenyuyd Csibs(H\ésGaudr (b
(B)  The sample sizes are 20 from A and 30 from B
A\ A Gpa 20 Guayyd B Wellmis 30 Cuaub Csibs6EsGaam@Lb
(C) The sample sizes are 25 from A and 25 from B
A WeSlppg 25 Cuenguyd B Wlellmpg 25 Cuenyub Caibos®hésCGeuemr(b
(D) The sample sizes are 10 from A and 40 from B
A Wl mpg 10 Cuaruybd B ulalmbg 40 Cuanruynd Caibls®ssGeus (b

26.  State of rest is a point termed as

Aeve Hlh@d Lerefl (State of rest) eramiLi(pIb.
(A) Equilibrium (B) Non-equilibrium
V\ goblane gobleneudlerento
(C)  Minimum Point (D) Maximum point
@@dDhsuL s Leraf s dasul g Laefl

27.  Which district in TN has the highest sex ratio?
IO PHTIger erbral LS umdar eldsbd Slsnns o drarg) ?

(A) Nagapattinam (B) Nilgiris
I5T& 1L L Ig GTLD '/.\ Baodlf

(C)  Tiruchirappalli (D) Thanjavur
Hmeflymiiveref S(@HETQ,IT

028/DM/23 8



28.

29.

A\

30.

31.

/\

Which district has the lowest child sex ratio?
eribrall LSl Gphagl Ltedear aldsd @ammeunsa|ererng) ?

(A) Madurai (B) Theni
LD&IGD1] Coeafl

(C) Anriyalur (D) Cuddalore
< flwer SL_QYITT

Range is the numerical difference between the
& ererLig)

(A)  First and the Last Value
pooraug wHUbGHED sl & wdikbnEn o arer GCeumuimQ

(B) Medium Value
5O WY
(C) Largest and Smallest Value
Bleti@Quflu wdHubhEn WssAdu wHGHED 2 der Caumpum®

(D)  Small Value
Nas ABw iy

Tamil Nadu ranks in power generation among the southern states.
Benermhpere 2 Husd Qeueuded sWPpETEH ¥Wp Gsearorbomsamarei

2 _dTerg).

(A)  Third (B) Fourth
CLPGITM TGS BTET&TOIG)

(C)  First (D) Second
(PSOTEUF) @ e Teug)

How do you term people employed in excess over and above the requirements?
GaamaisE sidsnrs Gaamauld mRHUED wasafler Haawemo
(A)  Unemployment

CauemevulerenLo

(B) Underemployment or disguised unemployment
&5&8 Gonhs Caume jdag weanps Gaimeaulaemo

(C)  Full employment
WppCGeuena

(D)  Self-employment
swGauene

9 028/DM/23
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32.  The statistical tool to measure changes over time is
sems@EpsSam G ghu@b wrhnhsmer SarelBHb Yarafudwe &med

(A) Averages ,4 (B) Index number
gyrgfaer SO G L_araer
(C) Deviation (D) Variance
NeL& & mIGET wroumrQ

33. A random variable X has E(x)=2 and E(x2)= 8. Its variance is

@@ sweumiiy wrd X has E(x)=2 and E(x2)=8 T SIF6HT MMILITL L GTan6y

A 4 B) 6
A\ ®)
C) 8 (D) 2
34.  Normal distribution has
@ueblenas LiITeua&E
(A) no mode \/‘ (B) only one mode
Wp&h Gdame @Gy @ wa® 6@
(C) two modes (D) many mode
@ s seT o 6w (h e (WP&H'&ET 2 68 (h

35.  The compulsory charge levied by the government is
Sl NHasiLpHb UL &L D eTerLg)

(A) License Fees (B) Gifts and grants

o Mwb Qeu@Sub wHmib wreiwd
(C) Loan (D) Tax

&6 ' euf

36.  The degree of response of demand to change in price is
feveuded gHuBd wIHPSHHEG ghu Csamaiuder wrHsms CaTHMmENEEGHL aTe,

(A) Income elasticity of demand (B) Cross — elasticity of demand
auporer Ceanel GpdlpEs G&nI&E Comeu Qpdlpas
(C)  Price elasticity of demand (D) Cross — Price elasticity of demand
\/\ Mever Coameu GQpdlp&s G&nI&EG e Coameu Cplpas

028/DM/23 10



38.

39.

40.

refers to the rate of death occurring per thousand new born babies.
27D Ap&EE D GYhossErse Gpuy eigb aerig)

(A) Natality (B) Mortality
iy o WipLer pLiy
(C) Infant mortality (D) Death rate

Gwhos Up&GLGUTE @nhg WnUiLy @muiy aisld

Population increases in a ratio, as explained by Robert Malthus.
&&56T CgTeans Qeusigsdle dlsfladng erarm Frufl IO Fmdlwig
(A) Proportionate \4 (B) Geometric
NSlgresny cflgsdle QupssED NlgsHld
(C)  Arithmetic (D) Progressive
gl () elgsdle cueT&sl ellgsdled

Five establishments are to be selected from a list of 50 establisments by systematic
random sampling. If the first number is 7, the next one is

50 Gur Qererr. fimeuarsder @ Uliqguealadmbg 5 Gueay, @perp &rihg WLTHMNE
senfliiy peopuier CarpbasBdss Couamhib. brpepuied psd eram 7 eaaild OS5

6T 60T

A) 8 (B) 16

C) 17 D) 21

Ogives for more than type and less than type distribution intersect at
e Uyeualler Sflar cueri wHmID Cellar auert @aseuser Ceul pé CaTeTEhb @)L Lb

(A) mean ,/’ (B) median
gyra @enL_blene
(C)  mode (D) origin
&0 28
11 028/DM/23
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Register
Number

DEPARTMENTAL EXAMINATIONS

DEPARTMENTAL TEST FOR EVALUATION AND APPLIED RESEARCH
DEPARTMENT

(Without Books)

Maximum Time : 1.30 hours : Maximum Marks : 60

IMPORTANT INSTRUCTIONS

DESCRIPTIVE TYPE
e feurer eflen_wefl&@n uans ellermggmer

Read the following instructions carefully before beginning to answer the questidns.
alamésEns@ e wellss Qam_rki@h ey ShssamL Sihle|amIsmer SeaTons Ligdse)b.

I Answers in excess of the prescribed number of questions appearing at the end of the answer

book will not be valued.

eflenLsemer GO Reter eramanlismasE siswrs awdulmrder, oL sgraiar @mdude

e e 2ifls erapraniisamauliorar allenLsear wHUSEH QewwtiuLTg.
2% In case of doubt, English version is the final.
ammésafier sbGsadlmLbear g mdle cugele CarhssuulBerer elamssCGer @midlwmerg).

PART -1

i & Write short notes on the EIGHT of the following : (8 x 3 =24)

() CaerellaEns@ Amn GOILIY T(Pgs.

1. Write a note on Reserve Money.

QoY vewrd - Sy GHIUY T(HEIs.

2% Distinguish between total and marginal utility.
Qursst vwerur®, @midblerels Lweaurh CaunuBsss.

[Turn over



3. Describe the evolution of money.
uewth eueThs ellgsans alleul.

4. What are the functions of IMF?
uererm_ () HlF Bimeuarsder Lanllamer eflars@s.

5 What is Index Number? Explain the types.
GDEL QL e erampmed eranman? igen cuamassmer alaufl.

6. What are the functions of entrepreneur?
Qzmfer wpanarGeurfer Lanfleer wrene ?

7. Explain rules of tabulation.
S LeuamantliL(hggedler eldpenpser wrene ?

8. Write a note on National Pepulation Policy 2000.
Caélu waser Ggranss Qardans-20008 UHH 6T(P&S.

9. Write about the disinvestment of Public enterprises.

Qurg Blpeuerisefler Lki@ elassmars PN GHLALWES.

10.  Define national income.
BT () QU(HLOTETD ETETLIS U FULMI&SSHaLD.

PART -1I

11, Answer any THREE of the following :
gGaabd ppern CadtalilsEnsE LHwaisseayb :

j B Describe Rostow’s stages of economic growth.

GrrevGLmellern cueriéd] Hlanesamer efeurdésa,ib.

2. What is an array?

cuflena eresmmed eretren ?

3 What are the parameters of Globalization?

2608 LWIDTHIET BeTel([HSET WTeneu ?

028/DM/23 2
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III.

Decision Tree Analysis-Explain.

Srworer augel b (Decision tree model) - afleuf.

Define standard error.
S ey euemrwumniés. -

PART - II1

Answer any THREE out of Five : B x7=21)
wbg Gaetellsaflcnr eparny Cadrella@nsE Ludoafissab :

Discuss the following :

Perimetro scheme was implemented in Tamilnadu and the purpose of the scheme is
to provide quality vegetables cultivated nearby districts to the public at the lowest
cost as well as reasonable price for the benefit of the farmer. Please elucidate the
coverage and objectives of the scheme.

Qumpsy smiGHMH Qg,rr%uq aueriEdlg HLb sllpssded CeuduBssiul B GUS@]’_D@J
@g,gr_gg,gm Cprésid GUEBBSTRIGMET L iqujaTer wreul Lhisald srishlamar LWL
B&]  &EEREG ST sTUsHEsmeT (@G@peurar elmasaie) FHauSHGSL WLHMHID
Aeasrls@nsE 2fu damasd daLssab @sHLID JWOURSSIULD eumSDng.
@s S Lgder uaflser (Coverage) wpmib Crréssdenar (Objectives) afleurl.

What are the basic characteristics of underdeveloped countries?

Yergmdlw prEsaier Snrdwdyser wreneu ?

Explain the various types of planning?

S psedar LGoum cuamasameT 6l6TsEs.

Explain the advantages and disadvantages of monopoly.

wpoHmfewuler parann LHMD Smwamer 6lleTsEs.

Examine the functions of central bank.

anww eurduder uallgamer edleTadlwamyésa]D.

3 028/DM/23
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